why do you think ‘unsinkable’ is in inverted commas?
it's what people said about i+ — ot fact
What is the purpose of the first paragraph in this information text?
introduce the key points and ewgage the reader
How much did The Titanic cost +o build?
o 7.5 million dollars
How many functional funnels did the Titavic have?
o 3, the fourth was for show
How long did the Titavic measure in metres?
264
How wmuch wounld a first-class ticket cost in 20167
£50,000
Nawme three thivgs vou conld do while aboard The Titavic:
g, bathe, restanrants
How mawny crew members survived?

212
How long should it have taken o get o New Vork?
7 days
wWhat was the maximum speed of The Titavic (in knots):
o 23 knots
How many compartments flooded?
five
How mawny people could lifeboats carry?
4
wWhen was The Titavic rediscovered?
19260

why is “that were thew used incorrectly” in brackets in the final paragraph?
parenthesis — to add extra info
Wy do you thivk the information text ends on ‘What remains of The Titanic?’
chronological, +o tell you what's happenivg with it nvowadays and +o bring the
reader into the present
@Give two ways The Captain conld have avoided a crash:
listened to warnings, vot slowed down, used all the lifeboats and filled them up
Define the word compounded
added +to
Define the word voyage
O a4 journey
Explain why The Titanic sank
o Various: vot listened to warvings, sailed too close +o iceberas, lifeboats were +oo
few in number, lifeboats not boarded properly.




